
Quantity in final product

View of product proposed

Legend of product proposed

Hex Nut Style 1 Gradeab M3
4 Sensor Arm
5 Cross Contersunk Head screw M2.5 x 20
6 Sensor Head

12 Bottom Cover

2

Part nameSupplier referencePart n°
1
1
1
1
1
1
9
1
1
1
1
1
113 Calble 8m with Jack 2 pins

7 Cork disks
8 Actuator - Cork disks support
9 Hex Nut Style 1 Gradeab M2.5
10 Sensor Body
11 Mictoswitch IP67

Exploded View.

Part n° Supplier reference Part name Quantity in final product
1 Cross Contersunk Head screw M3 x 16

Sensor Support
3

1
2

4

3

5

11

9

10

8

7

6

13 12

AmistadiD
Casella di testo
G1-PR5 - GEO CLASSIC (SENSOR) - 81965791




